ACADEMIC CONNECTIONS
Mathematics

Middle School Connections in Agriculture Education

Name____________________________________ Period____ Date______________

Agricultural animals are a source of money for Juan. He has two adult cows and one calf that he wants to sell. The combined weight of both adult cows is 1200 lbs. One adult cow weighs 750 lbs. The calf weighs 120 lbs.

1. What is the weight of the second adult cow?     _______________ pounds

Juan took his cows to the local sale barn. Juan would receive $0.89 per pound for each adult cow, and $0.97 per pound for the calf.

2.  How much money did Juan get for the cow that weighed 750 lbs.?

3. How much money did Juan get for the second adult cow?

4. How much money did Juan receive for the calf?

5. What was the combined profit for selling the two adult cows?

6. What was his total profit for selling all 3 cows?

Answers:

1. 450 pounds

2. $667.50
3. $400.50

4. $116.40

5. $1068.00

6. $1184.4

